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0000 f(x)D00000O0O0OO0O
b
/Gdacf(ac) (1)

gogbbobboooooooboooooboboobooboooboooobo0oooooooo
ggobbobbooouobooobobbooobbooobobobbobobboobaan
goooboobobobooooooobboboooooobbooogo

goboobbobboobooobobooobbooobooboooooobooboboboobon
gdbooobbodoboobuoooobobooboooooobooobobobobbouobo
goboooboobbooooboobooboooooobboboboobobooobooboobobon
0000000000000 0000000000000C00O000D00OooOOO0O (Double
Exponential method=DED )0 0000000!'00000000000000000OO0O0O0
gobooooodbooobooobEbogbbooobobObobOUobobobOobOOoO
gogobbogoboubobbobooobbobbbooboooboboooooobobooaaon
gboboobogboboobbobooobdad
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goooboobooooooboobbbooboobbbboooooooobooon

gbboouugboabobobboououoobbooooobbdoboooboanbon
goobooobooboopboboobobooooobbbbooobobboboooooobo
gogbobooooooooooooooboobboboooooboooboobobbobboboboo
ggooboboobbbooouoouooooobboooboobbouooobbooboan
gooboooobogoooboooboboboboobbbobooooooooooboobooog

oooooobooooboobobooooobbooobooboboogoobooo N=2700
00000ooooooo0 7, 000000000000 ARO0 h=(b—ae)/NOODODODOOOO
gd

2n—1
T - b2—na{f(a)—2l—f(b)+ Zf(a‘i‘jb;na
7=1
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T, b—a 22! b—a

T”H:?jLWZf(a—i_@j_l)W) (3)

0000000000000 Ty=(b-a)(f(a)+ f(b)/200000000000000
0000000000000 000000000000000000000000000000

l. f(zx)D0000e0000O0DOO0O0ODOOODDOOODOOOOR=100h=b-—0a,T =
h(f(a) + f(b))/2.
2. 00
n=2n
h=h/2
s=0
i=1,3,---,n—1000
s=s+ f(a+ih)
goon
newT =T/2 + hs
if [newT — T| < e|newT| goto (3)
T = newT
goood

3. newTO0O0OO0O0O

00000 f(z)=e* 00000 [0,1]00000000000e=10%000000000
000000000000 Fortran000000

external f
eps=1.0e-6

b=1.0

a=0.0

n=1

h=b-a
t=h*x(f(a)+f(b)) /2.0

do k=1,15

n=2x*n
h=h/2.0
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s=0.0

do i=1,n-1,2
s=s+f (a+real (i) *h)

enddo

tn=t/2.0+h*s

if (abs(tn-t).lt.eps*abs(t)) goto 1

t=tn
enddo

1 write(*,*) tn,k

end

real function f(x)
f=exp(x)
end

oboooobooob oobobooooobboooobo e oogooooooon
D0000e—1=1.7182818.-.- 0000 0D00DL0O000O0ODOODOOODO
oooobOoooooboboOoobooo cobobbooobOoDOoOooDObODO

#include <stdio.h>
#include <math.h>

float f(float);

main()
{
int i, k, n;

float a, b, h, s, t, x, tn, eps;

eps = 1.0e-6;
=1.0;

a =0.0;

n=1;
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h=b - a;

t =h *x (f(a) + f(b)) / 2.0;

for(k = 1; k <= 15; k++) {
n=2=%n;
h=h/ 2.0;
s = 0.0;

for(i =1; 1 <=n-1; i +=2) {
s + f(a + (float)i * h);

n
1]

tn =t / 2.0+ h * s;
if(fabs(tn - t) < eps * fabs(t)) break;

t = tn;

printf ("%12.8f %d\n", tn, k);
}

float f(float x)
{

return exp(x);

¥

FortranOO O D ODODOO0O0OOOOODODOODODOOODODOOODODODDOODDO

real(8),external::f
real(8)::eps,a,b,h,s,tn,t
eps=1.04-10

b=1.0_8

a=0.0_8

n=1

h=b-a
t=h*(f(a)+£f(b))/2.0_8

do k=1,30
n=2x*n

h=h/2.0_8
s=0.0_8
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do i=1,n-1,2
s=s+f (a+i*h)
enddo

tn=t/2.0_8+hx*s
if (abs(tn-t) < eps*abs(t)) exit
t=tn

enddo

print*,tn,k
end

real(8) function f(x)
real(8)::x

f=exp(x)

end

gbooboboobooboboboboobboobbon

00 fZdrcos(z)000D00 (00 sin(2) =~ 0.909297407)

3 Uoooooo

000000000000000000000000002000000000000000
00000000000000000000000000000000000000000

0000000000000 0000000000000000000000000000
11,532,230 000000000000000000000 f1,f,/s00000000 f(z) =
a(z —22)? + bz —22) +c0 000000000000k =23—-2,00000000

fi = ah®—bh+c

fa = ¢
f3 = ah®+bh+c (4)
oodooooooooooodooo
_h+ =2/ _fs=h B
a = 2h2 y b= oh 3 C_f2 (5)
0000000 y=z—x9,9(y)=f(x) 0000
h h
[ sy = 55+ 452+ 1] 0

0000000000000 000000DOooO
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Sy = [f(@25) + [(@2)42) + 4 (z2541)]
§=0

N N—1
[f(a) + £(b) +4) flwaj1) +2 ) f(x2))] (7)
Pt =1

w

w| >

0000000000000000000000000000000000 N *0000000
oooooobmooobboboobbooobobbood
guodouboboboooobooobdobboobobbobooooobobbboooboboooon
000000000000000000O00000000DO00DD0O0O0O00 N=2"n=1,2,--)
UdbnbO00O0O0D00O00OO0 pOOODOO0OOLOOOOOOOOOO0
N=2"U0D000OO0O0O0oO00o0oooooooooobobooooL oy, s, 0o0np0oooDoo

goooo

4 1
ngJrl - ng (8)

000000000000h=(b-a)/2""' 0000

Sn+1 =

4 1. 4h f() al
3 n+1 3Tn - 3[ +]z:1fa+]h
3[f() +Zfa+2jh
]:1
N-1
= 3lf(a) +4Zf(352j—1 2> f(z)] (9)
j=1
0000000000O00O00O0oo S, 00000000000
0oooooog
1. e=10"P,
N := 2,
h:=(b-a)/2,

T :=h{f(a) + f(b) + 2/ ((a +b)/2)}/2,

S = h{f(a) + f(b) +4f((a +b)/2)}/3
2. Loop

N :=2N,h =h/2

s=0

e Loop(i =1,3,5,---,N — 1)
s=s+f(a+ih)
e 110N
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newT=T/2+h s
newS=(4newT-T)/3

If [newS — S|/|newS| < € goto 3
T = newT, S = newS
goooo

3. newSO OO OOODO

gooo
OO0 FortranOO OO OQOQOOOO

external f

eps=1.0e-6

n=2

b=1.0
a=0.0

h=(b-a)/2.0

xi=(a+b)/2.0
t=h*x(f(a)+f(b)+2.0%f(xi))/2.0
ss=hx (f (a)+f (b)+4.0*f(xi)) /3.0

do k=1,20
n=2*n
h=h/2.0
s=0.0
do i=1,n-1,2
s=s+f (a+real(i)*h)

enddo

tn=t/2.0+hx*s
sn=(4.0*tn-t)/3.0

if (abs(sn-ss).lt.eps*abs(sn)) goto 3
write(*,*) sn-ss,sn,k
t=tn

Ss=sn

enddo
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3 write(*,*) sn,k

end

real function f(x)
f=exp(x)
end

con

#include <stdio.h>
#include <math.h>

float f(float);

main ()
{
int i, k, n;
float a, b, h, s, t;
float xi, ss, sn, tt, tn, eps;

eps = 1.0e-6;
n=2;
b=1.0;

a =0.0;

h=(-a)/2.0;

xi = (a+b) / 2.0;
t =h * (f(a) + £(b) + 2.0 *x £f(x1)) / 2.0;
ss =h x (f(a) + £f(b) + 4.0 *x f(xi)) / 3.0;

for(k = 1; k <= 20; k++) {
n=2x%n;
h=nh/ 2.0;
s = 0.0;
for(i =1; i <=n-1; i +=2) {
s =s + f(a + (float)i * h);

}
tn =t / 2.0+ h * s;
sn = (4.0 x tn - t) / 3.0;
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if(fabs(sn - ss) < eps * fabs(sn)) break;

t = tn;

Ss = sn;

printf("%12.8f %d\n", sn, k);
}

float f(float x)
{

return exp(x);

}

gooo
Fortran 90 000000000 0O0O0OO0ODOOO0O0ODOOO0OOODOOODODOOOODOO

real(8),external::f
real(8)::eps,a,b,h,xi,t,ss,tn,sn,s
eps=1.0d4-10

n=2

b=1.0_8

a=0.0_8

h=(b-a)/2.0_8

xi=(a+b)/2.0_8

t=h*(f (a)+f(b)+2.0_8*f(xi))/2.0_8
ss=hx(f (a)+f(b)+4.0_8*f(xi))/3.0_8

do k=1,20
n=2%*n
h=h/2.0_8
s=0.0_8
do i=1,n-1,2
s=s+f (a+i*h)

enddo
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tn=t/2.0_8+h*s
sn=(4.0_8*tn-t)/3.0_8

if (abs(sn-ss) < eps*abs(sn)) exit
print*,sn-ss,sn,k

t=tn

ss=sn
enddo

print*,sn,k

end

real(8)function f(x)
real(8)::x

f=exp(x)

end

oooooooooooooboboOo s sooobOooobooobUoboobOooOoooo
oobobooooooooooboobobobbbOl notationOD OO O0OO00OD0OO0ODOO
googoboooodbooooboooooboooooobobobbobbobbbon
guoboobooboboaaon
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0000000000000 00000OO0(@UODOOOOoOOO 0.233859524 )
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00000000000000000000000000(CO0O00DO0D000D0D0OU0O0)00OO
gboobuoooooobooabood
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ooobobbooobbboooboboobobbbobboboo0obOodod Mathematica
gbbodbobooouooouobobobooboobooboobooboobooobaon
goboobbobuoouoobooboboobbobobobobbuooobobobooog
goooogn

D3f_lldm/\/l—$2DDDDDDDDDDDDDDDDDDDDDDD

ugboobobobdoboobbuodoooouooboobooobboobouooboobbobooobaon
0000000000 DOO0O0DODOOO0ODOO000O0DO0O0000DO0ODO0ODO0O00 «=sinf
vgobooobobboug«LbOOOO0bOODODODOO0OO00ooobuboboouooobgy
gbboboboobobbooobbuooobooboaboooaoobuoboboobon
goobooobooobooooobobooboooooobobooboooboooo
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4.1

1
In:/ dzz"e® 1 (n=1,2,--)
0

(1) 00000000 ,000000000000
(2) (1)00OO0O00O0O00 4L,---, ;00000

(3) lim,,» [, 0 0000000000000 O0D0OOODODODOOODOOOOOOODOD
goo

(4) 000000 0OLOOOOO0OnL,---, [, 00000000000

DEOOOUOO

00 f(x) 0000000000000 0000000000000000000O00D0O0OO0
gboobboodobboboobobboobooobooooobobooooboboooooan
ggobooboon

= [ (1) (10)

oobooobooobooo AObDOODbDOOO

I,=h i g(ih) (11)

1=—00

goboooobooboooooboboooooooo

05 1=/ dte” =70 (11) 000000000 (h=0.5)0

o000 ())oooooooooo

x = (t) (12)

000000000 (—o0,00) 000

1= [ eltne (13)

0000000000000000000000000DO0O0O()DoDooOoO0ooOo

Li=h S Felih)e h) (14)

1=—00

gogboooooooobboobobbobooobbobbobbbobbbooo

Ny
I =h S flelih)¢'(ih): N =Ny +N_+1 (15)
j=—N_

ggoogg
00 ) 0000000000000 000000O0ODO00ODO0O0ODOOO

1
1= [ as©) (16)
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oooo?
€= p(t) = tanh(g sinh ¢) (17)

O0000000O0oooooooooOoo (150

N —p, S tanh(Z sinh(ih 5 cosh(ih) 18
noT i:%:v, f (tanh(3; sinh(i )))coshZ(gsinh(ih)) (18)

000000 (1700000 (13)0000000 [f0000000
fo(t)¢'(t) ~ Aexp[—cexp |t]] (19)

0000000000004 000 (199000 DEOO (Double Exponential Formula) 0 00 O

goaooood
goooooobooooooooooooooobbooooooobooobouooo

gooboobbbbooooboooooobooooono

4.2 DEOOODOOOODOOO
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Ih/2:%{Ih+h > (25 +1)h/2))¢' (25 + 1)h/2)} (20)
j=—00
00000000000 000oo0o0o0o00oon AIly,=1-1,0 AIhNeXp(—C/h)DDDD
0000000000000000000 Al ~ exp(~2C/h) ~ (AL)?000000000
O0000o0o0ooo0oo bEo0ooooooooooao
gooo0oooooooooooooooooooooooooon [h/QDDD I,0000
000000 Ay~ ys— I, 0000,/[AL ] ~ Iy, —,/000000000000000
o000 000
[Inj2 — In| < c1v/e (21)
000000000000 boddn0 qUbO0oo0o0ooooooonoond @ =0.20000
ooooooa

DEOUOOOOOODOOOOOOODOODOOUODODOOD (13)bO00t=7000000 (190
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[ s @)~ A [T aresi-e1 < £ [T evds~ o)) (22)

T

0000000000
| (p(m)¢'(T)] < e (23)

Sr=(b—a)/2+(b+e)/200000 (1)0 (16)00000000000
‘0poooooooDOooD
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0000 t=7000000000
DEOOOOOOOOOO0OO0OOO0OOO0O0O0O0000000000000000000000
0000000000 (18) 000000 cosh?((n/2)sinh(ih)) ~ (1/4) exp[Z expib|] 00 00
000000 32000000000000000000000000000000 7.2x10720
000000 |ik|~473000000000000000000000000000000000
0000000000000000000000000000000000000000000
ooooo

= /1 def(z), f(z)=(1-2%)%a> -1 (24)
-1

0000000000000000000000 «0-1000000000000a<0000
0 (13)0 f(e(t) 000000 (199000000 ¢/(1)000000000000000000
000O0eO0-10000 f00000000000000000 DEODOOOOOOOS000
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0000000000000000000000000000000 19980000000000
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gbooboboobodaooo

= K  dtg(t) (25)

oobooobooobooo AObDOODbDOOO
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Ti=h'Y glih) (26)
1=—00
0000000000000 00000D000000000000000000000%000
goboooboobodad
Ep=1I,—1 (27)

01/Ah00000000000000000000000000 D(d) ={z € C|[Imz| <d}O
00000002/000000000000000

0000 |D(d000000 f(z)00000000000
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gooogooo
lim A(f,¢) < o0
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0000000000 0000000000000000000000000000000000000000
O000O00OO0OO0OOFORTRANTT OO UOUOOOOOOOOOD 1987) 00000000
0000000000000 00000D0O0mMODO0Ooo

o1



ooooo
(2) 000 c(0<e<d)0000O

lim dy|f(ac+zy)| 0

T—+00

gooo
ooooooooobooobooooo A>000000

exp(—2nd/h)
— exp(—2nd/h)

By < - A(f.d—0) (28)

goooon

0000000000 (—(N+1/2)h+ic, (N +1/2)h,+¢) 0000000 (£(N +1/2)h —
ci, (N +1/2)h+¢) 00000000 ROODOOOD f(2)cot(nz/h) 00000000000
cot(mz/h) 0 z = kh (k00000000000 A/700000000 2 =khOOOOO
cot(mz/h) =~ hcos?(rzo/h)/(m(z — 20)) 00000000000 Res[cot(rz/h)] =h/x0000
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0000000 N—-oo00OOO I,00000000 (2)000000000O0OOOOOOOO
goooo
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gooooo
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gboodoood
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